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Ofl &b Xb== 0 =0l &
AR HIISXAANEFHEXNAF2UXNRAI =

® S35 (ctg:m2l)
= 2 Al 2 A S Al 2
g = o= 2 oH HAz N g & & = X&EH HETXEH s &
E Al 1,020,930 777,149 243,781 | & A 1,020,930 777,149 243,781
o 2 = 290,000 290,000 0|8l 8R4 A HI 567,201 323,859 243,342
2 EN = 0 0 0|8 Xtd AL HI 0 0 0
Xt 2 = 0 0 ojer &8 2 9 0 0 0
Eotzz e 0 0 o2 =2 7 dl 0 0 0
HE=d33=+ 0 0 01l & = 0 0 0
o xXI = 3 = 698,895 456,030 242,865 | Ol Xl = 453,729 453,290 439
o = 3= 0 0 Ol 0 0 0
o X = ¢ 32,035 31,119 916 [l =223t s 0 0 0
J B = Y 0 0 0|21 & X = 0 0 0




SIHHEE 2022
Ol &EXE= 0 20il &
SIHFREZ @ HIISMANEFHNGFAUXAI =
@ +=2HE o )
X+ . 3 . St =2 A O| OH @E'E = 2} d-iu.locl
o e S = T g —+—g,|°_," S O = =
200 Ml 2l=¢ 4,788 3,872 916
210 BN 2= 4,788 3,872 916
216 Ol At==¢ 4,788 3,872 916
216-01 230 201 Xt =& 4,788 3,872 916
O OXIZ OIXH(=AlDIE)
764,650& * 1A = 764
O X2 Ol XH(MEXR) 4,024
o Z303
1,910,860 * 14 = 1,910
o &AJlu3
2,114,000& * 14 = 2,114
700 EX U SLHEAH 1,016, 142 773,277 242,865
710 282 S 698,895 456,030 242,865
714 Ol XI 22 = 698,895 456,030 242,865
714-01 Gl XI 2 3 = 698,895 456,030 242,865
O UxXIZ al#=(=ADlg)
76,465,000& * 14 = 76,465
O Gix=z 3+ (MaEXA)
622,430,000& = 14 = 622,430
720 LH 2 A A 317,247 317,247 0
721 83 290,000 290,000 0
721-03 JIEt3l H & & 2 290,000 290,000 0
O LBtg|H M3 (= AlDIE) 75,000
o HIIZH2AE F=HIA
FOXAIS HYS
25,000& = 30,000& =* 10 75,000
% =
O YB3} MUS(MEXS) 215,000
o HIIE B3 =
WOl 10%
25,000& = 45,000&€ * 10 112,500
% =
o Sgx03
102,500,000 * 14! = 102,500
722 2202 27,247 27,247 0
722-04 GlE =0l At 27,247 27,247 0
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Ofl &b Xb== 0 =0l &

AHAFAZ ¢ HIISHEANEFEANGFRXNAIS
® N&EAHE CER-)
AN .92 HH. O - MPAY - BAS X 8= | yaosz
Xl & o
< Al Ol 3t 152,229 151,790 439
MWs-=8 73,729 73,290 439
MWRES(ZAOISD) 73,729 73,290 439
SBEXNE(HIISM2AANEZHILSFAUIAI D) 73,729 73,290 439
SRS 73,729 73,290 439
602 Ol Xl= 73,729 73,290 439
01 LBtUXI=3 73,729 73,729 73,290 439
O 202249 %= 0IXl2 73,729,000 * 14 = 73,729
HII2 78,500 78,500 0
HOI2 228 Kl 78,500 78,500 0
MEHIISHMAIE JIBH2SHEIIS M2 AEFHIAF2X 78,500 78,500 0
MEHIISHEANE 2S5 78,500 78,500 0
301 dEetE M= 78,500 78,500 0
12 JIEtE &= 78,500 78,500 78,500 0
O SAEHISEEMANE =HISEXA =0
&S (HL3)
25,000 = 30,000€ * 10% = 75,000
O TANEHIISEEHMelAE FUXNAEAHM 2
=l
3,500,000 = 14! = 3,500
ME TR ALY A 868,701 625,359 243,342
ME -38 380,000 380,000 0
HREs (METUAAL D) 380,000 380,000 0
BEXNE(HIISM2AANEZTHILSFTAUXAIS) 380,000 380,000 0
SRS 380,000 380,000 0
602 Ol Xl = 380,000 380,000 0
01 LBtUXI= 380,000 380,000 380,000 0
O 20219 % X2 380,000,000 * 141 = 380,000
HII2 488,701 245,359 243,342
HOISANE FHXH 488,701 245,359 243,342
HII2™M2lAlE 8IS X2 (HIISH2AANEFHIS =) 488,701 245,359 243,342
HIOISHM2AIE =HX49 =8 X2 488,701 245,359 243,342
301 detE N = 488,701 245,359 243,342




oH
K

Ok

al

243,342

243,781

245,359

777,149

488,701

1,020,930

488,701
488,701

BHa=

B9 ARAY

5

o

=R=)
T =

X
=

X

12 JIE=243

Al

0D

N




w
e
H
g
A
oy
P
0x

=
ba}
02
o
(]

SIAHAT 20224
Ofl &b Xb== 0 =0l &
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2 16) Moz | Bx= | mo= ﬁ”;&”@; M2z |oxag
2016 DHX 9,313,563 8,701,423 0 0 0 0 612,140
20179 &= 339,842 248,564 0 0 0 0 91,278
201848 & 3,932,259 3,825,055 0 0 0 0 107,204
20194 &= 290, 196 243,829 0 0 0 0 46,367
20209 & 319,416 284,767 0 0 0 0 34,649
20219 &= 321,119 290,000 0 0 0 0 31,119
20224 & 322,035 290,000 0 0 0 0 32,035
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At Bl Hl (%ol 23aE | 23us

2016 kA 2,994,524 2,994,524 0 0 0 0 0| 6,319,039
20173 1,604,710 1,604,710 0 0 0 0 0| A1,264,868
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